
 

Exercice : Dériver les fonctions suivantes : 

𝑓(𝑥) = 6𝑥3 − 4𝑥2 + 2𝑥 − 7 

𝑔(𝑥) = −2𝑥3 + 5𝑥2 + 𝑥 + 13 

ℎ(𝑥) = 𝑥(𝑥 + 5)(2𝑥 − 3) 

Comment dériver une fonction ? 

𝒙𝒏  

𝒇(𝒙) 

𝒙𝟑  

 

𝒙𝟐  

 

𝒙𝟔  

 

𝒙𝟒  

 

𝒏𝒙𝒏−𝟏  

 

𝒇′(𝒙) 

 

 

 

 

 

 

 

 

𝒂𝒙 + 𝒃 

𝒇(𝒙) 

𝟓𝒙 + 𝟏 

𝟐 + 𝟑𝒙 

−𝟕𝒙 + 𝟏 

𝟑 − 𝟒𝒙 

𝒂 

𝒇′(𝒙) 

 

 

 

 

 

 

 

 

𝒌 × 𝒖 

𝒇(𝒙) 

𝟒𝒙𝟓  

 

𝟔𝒙𝟒  

 

−𝟕𝒙𝟐  

 

𝟐𝒙𝟑  

 

𝒌 × 𝒖′ 

𝒇′(𝒙) 

 

 

 

 

 

 

 

 

𝒖 + 𝒌 

𝒇(𝒙) 

𝟓𝒙𝟑 + 𝟏 

𝟔 + 𝒙 

𝟐 − 𝟕𝒙𝟐  

𝟑 − 𝒙𝟒  

𝒖′ 

𝒇′(𝒙) 

 

 

 

 

 

 

 

 


